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INFORMATION TECHN_OLOGY :
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
“compulsory. All other questions carry 12 marks each.

_ : ‘Marks
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1. a) Speclfy the features of Relational DatabaseManagememsystems 8
b) Mention afew popular RDBMS. . - 2
¢) - Inthe context of RDBMS, what is : : i 6
i) PrimaryKey - ‘ ‘
ii) Entity - ‘

iti) Normalization
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Name the following :

a)
b)
c)
d)

A computer network spanmng a regional or global area.
Diagrammatic representation of the logic contamed in a program.
Main memory of a computer.

A coding syster widely used today to convert alphabets dec1mals
and specidl characters into binary form.

. Query Language used in a Relational Database Management System.

A group of 8.bits.

Ability to run more than one prograrn at a time on the same computers.
Programming technique based on the use of objects.

Visual screen edition in UNIX.

A high level language developed in-early sixties used for busmess

applications.
Data that is converted into meaningful results.
In this unit; actual execution of instructions takes place durmg the

“processing operation.

By ] e, e R e v § O v a8 T
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“Electronic Mail and Internet have become essentla] for a service industry
like insurance.” Discuss. :
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Draw a program flowchart for the following problem:-

An examination consists of two papers, Maths and Science. For passing
the examination a candidate has to secure at least 40% in each subject
with an aggregate percentage of 50. Each candidate record gives the roll
no. and marks obtained in each subject. Print the list of successful
candidates. - ’

ﬁqﬁqw,ﬁﬁaﬁtmw%aﬁﬁﬁwﬁmml

Describe mainframe, Mini and Micro computers.

%) mwﬁm@%wmmaﬁml
i) 100100
ii) 101010
@) i) T el B e % g Rt @ sren R
i) ﬁmﬁn{mﬁmﬁﬁsﬁ@wwﬁmw
e RaRaw |
10001, - 1010t, 11111 @@ 11100
IRIF X7 (@) (i) T =8 RO 1 Serers GAged T S

Convert the below mentioned Binary numbers to Decimal numbers.
i) 100100
if) 101010 :
b) i) Write the basic rules for addition on Binary Numbers.
i) Do the Binary addition of the Binary Numbers given below:
10001, 10101, 11111 and 11100
¢) Whatis the Decimal equivalent of the Binary total arrived at in (b) (ii)
’ above.
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mm@qlmﬁﬁn




4 : AC ~21
7.. ‘Along with Unit Testmg, systems testing should also be performed prior | 12
: to-a software 1mplementauon Discuss. ,

'8, ) ﬁwﬁf@amﬁﬁawm: v o 6

Expand the following :~
i) WA _ROM
Ty S et " OOP
iil) LT~ VLsI
vy T T T E SSAD
v) @G . DTP
vi) SITE T CSMA :
) ﬁwqﬁwmwwm% fafgw) - - R 6 -
b) - What do-these commands in UNIX stand for ;- ) : .
i) du
it) wall
iii)  Ip
iv) rm .
v) -chmod
vi) “more
o, e R R R - ' ' (% B4 3%)

i) m%mmmmmﬁmm
ii) zﬁmsﬁnﬁu@mmmﬂw
- iii) dgE WA Aeas

9. Shortnoteson: 4 each
a) Computers classified by types. ’ :
b)  Roleof IT department in an Insurance industry.
c¢) Wide Area Network.
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: 5
10. -a)  Narrate briefly about Hexadecimal number system? ‘
b)- Find the Hexadecimal equivalent of Decimal number 2008.

¢) Find the Decimal Equivalent of Hexadecimal number (H)6E6.
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: ASSOCIATESHIP EXAMINATION
FIRE HAZARDS OF SPECIFIC INDUSTRIES
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory All other questions carry 12 marks each.

Marks
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A
1. a) “Adequate blow down facility is.an essentlal featureof a hydrocarbon 4
- processing industry” —Discuss. ,
b) - State the critical importance of control room in a hydrocarbon’ 6
processing complex.

"¢) Give six examples of hazards relating to mamtenance in the 6
Hydrocarbon Processing complex. : '

' (m%4m) :
2. 3 mw%ﬁﬂwﬁaﬁﬁmmm@mmwl
C W) EER S S gE agr wr e, S e s i g e?
g)  shrRSE SR § S S TR A 87

2. a). Mention Fire Prevention measures for indoor storage of finished 4 each
’ paper. :
b)  Why does amulti-storeyed tea factory with withering section present
- greater fire hazard? ' k
“¢) - What are the fire-hazards associated with cryogenic Process?
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@%ﬁm@wmmﬁéﬁﬁ?mﬁmﬁmmmn 12

What-are the Fire hazards in “Jute Godown ” Suggest suitable loss 12
prevention measures.

(xrm%saﬁs)
wm%mmawmwwaﬁmma
Fare % R 7 faftyat aroemdlt st anfee?
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q) ST F e

What are the Fire hazards and Fire prevention methods to be adopted for 6 each -
the following sections of paper mills. -
.a)  Storage of wood logs, Bamboo etc.

b) Waste paper storage?

ﬁnﬁ@aﬁwﬁamm(ﬁw@ﬁ)mmm (7% ¥ 6 %)
37) Fehferaftn sai & e v wfiwa : '

Q) TR IET § Wiyt @ SRt
W) Rk ARGt

Point out the fire hazards involved in (any two):

a)  Oil quenching process in Engineering Industry.
b) Solutioning or cementing in Rubber Industries.
) Spray painting of the fabricated products.

frefofea & e s wre A (@i @)

o) g A ¥ gfie serer aar e e
) mmﬁmm?mﬁﬁnm
W) Rt e 3y e Rat ¥ v @R o Ry @R
) FERFET F eI 59 SaEier arsy

Distinguish between (any three) :-
Unit Operation and Unit Process in Hydrocarbon Industry.
Dying Process and Printing Process of Textile Industry:
Process hazards and Miscellaneous hazards of Gin and Press Factories.
Flammable Liquid and Flarpmable Vapours of Hydrocarbons.
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(m%6m)
) ﬁmm%nmﬁﬁnﬁ%qw%mﬁqmﬁrﬁﬁﬂ%
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9 waﬁﬁnaﬁmﬁaﬁwﬁm|

a) Name the Fire hazaids in Metal cumng, shaping etc. and what are 6each
the preventive measures. : :
b) Briefly explain the process of Powder Coatmg

w?ﬁwmwm‘ o Rw¥4aE)
) a@wmmﬁmwm o

- 9) el 9 Seed ) whR

W) SoRarge el el

%) iR 25§ 9 sl

Write short notes on any three :- ' 4 each

_a)  Fire hazard in Bulk storage Tanks in Hydro Carbon prooessmg unit.

b) Process of Black Tea manufacturing.
¢) Polymerization process in textile mills.
d) - Testing of Internal Combustion Engine.

) TR Wi B & I I ER R ) h 8
3) mﬁﬁnmﬂamﬁmﬁ:ﬁ@aﬁwmml 4

a) What are the hazards:due to Static Electncnty in Rubber Industnes? 8

*b) Mention the location hazards associated w1th cotton Gmmng and 4

Press Factories.

wmﬁamﬁwsﬁaaamamm@mmm%m 1
w%mmmwmn

lee your recommendations for safe storage of flammable hqu1ds and 12
other hazardous materials in Chernical Works
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
" compulsory. All other questions carry 12 marks each.

(e 3 )

1. %) e e () o H 9 S I % A S
T F W S WA H I b |
) W%wmmmﬁmammaﬁ%mm@
. SPATHE & R F TG R
T) ﬁgﬁwmﬁnm%maﬂéﬁa@aﬁ@ﬁmmﬁml
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1. .a) Name four industries generating Trade wastes and state the hazards 4 each

associated with each.

b) List out four classifications of, FII'CS and type of an extinguisher
suitable for each class. .

¢) Detail the important fire hazards associated with the electrical wiring
system.

d) “Beside fire fighting and rescue work, fire brigades check the
observance of rules under various-acts” — name any four acts.

2. fefiRen v R e e ; (T % 4 3i)
a7) AT gefagEe ey "

q) TS T e

) fereira At
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g 2 | AG -52
Write short notes on : ; 4 each
a). ' Flame proof electrical fittings. '

b) Fluid Power system

c) Electrical Earthing

el & ‘Frmfor’ 3 sror dar 89 aret ity wadl #t Wiy § we Ak 12
Briefly explain the Fire Hazards due to “Construction” of the Buildings. 12
Freaferfia  Rraforat forfe | C RwHaEE)
3) eiaRT. :
q)  UCER HEE HUTel )
¥) wEfET yitha

* Write notes on : . , ' 4deach .

a) -~ Supervision
b) “Mutual Aid System
¢) Grinding Process.

IR G B wer # el o e L 12

Enumerate the methods of Reducing Exposure Hazards. 12
(IS F 4 3iF)

ﬁwﬁa@aﬁzﬁuwﬁ%mﬁfa&rmﬁwmmﬁaﬁww
) TR

§) mey

¥) TR

Explain the functions and the Fire hazard associated in the following 4 each
electrical machines.
a) Generators -
b) Motors.

c) Transformcrs

a1 WWWMW%WWWWI _ 3
) s wlthn @ Rk ol Yam i oRn fan e 9
Sfspaneil & war TR 2 8 87
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a)  Mention any four different types of detectors. ’ 3

b) Whatdo youmean by ‘Cleaning & finishing Processes’ in Industnes 9
and what are the hazards associated with these processes?

“ift iy SererEs 9 el et % Hrfem yeue ¥ B 27 - R 1
- St % feer e 8 T R

“The Fire Insurance Underwriter would be interested in the efficient 12
management of a factory” - Elaborate the various signs of a well managed
factory. . .

a7) foreft aiferere e B Y-l syl & e SR 4

q) aiaer et § diaen/dd aun T HEf yoTe | 98 Tl wIeE 8
HfST

a) Narrate the ‘Inter-lock Arrangements’ provided for saféty in a boiler?

b)  Specify the hazards associated with coal/oil and gas firing system in 8
boiler furnace?

i T (Rt T 5 9 ) - (e 4 59)

%) foEBT quT SepE
q)  SeHEr T Ga o geant afty @

) Ity 9R qar I oy

g) fyuRie = @ a9 s &1 e

Distinguish between (Answer any three) : 4 each
a) - Explosion and Implosion. '

b) Originating fire hazards and Contributory fire hazard.

c) Fire Load and Fire Resistance

d) Explosion suppression and Explosion Venting.
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ASSOCIATESHIP EXAMINATION
' FIRE INSURANCE UNDERWRITING

w36 ] ' [&et 3tk : 100
Time: 3 Hours] o {Total Marks : 100
Tt a1 Tt & ser AR | wor w3 16 siw ¥ g T it T R
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry. 12 marks each.

. Marks
1. R e i R O g Rt fafem - 16
1. - ‘Write a comprehensive note on Reinstatement Value policy. ; o 16
(I % 3 3)
2 mmﬁm%mmmmwmmmﬁm
g
o) wwIE e
) Sifew frdieror .
@) uiferdl it Sl srerer
7) @ ‘aﬁﬁﬁ; LAE ]
2. Explaln how the principle of utmost good faith apphes durmg - 3 each

-a) the proposal stage.
b) risk inspection

~¢) Carrency of the policy.
d) "After a loss occurs.

3. 4 F mﬁmmmwmmﬁwm 12
'wamwaﬁﬁqu '

3. Compare and contrast combined policies and package policies avallable : 12‘4
in the U.K. market -
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Wﬁm%mm%mﬁmmﬁwml
) forepfter sweeor & Rl siftew’
) w9 Wiy :
W) wHf S ¥ § gy S

Discuss the cover under the fire policy in respect of :-- ) 4 each
a)  ‘Electrical risks’ of electrical equipment,

b) Architect’s Fees.

c) Temporary removal of property.

37) it o § e snfer gaﬁma:ﬁmms’rm%? L (S 6 37)
) ‘Tl e’ mmywwmé"

a) Why is ‘Excess of loss reinsurance necessary in fire msurance" 6 each
b) How does the ‘excess of loss’ treaty operate?

&) i st iferfyelt # “aro sitee’ ﬁmﬁﬁwmﬁﬁ?qrm 4
g9

q) WUHIET % e I fo S i i 81 : 8
a) “Why:is pro-rata aver age condition mcorporated in fire insurance 4
" . policies?

b) TIlustrate how the condition operates. 8
frefefen % waaml @ e i ¢ (3% % 6 3i)
&) G I G :
) & S 9

. 'Mention the provisions of :- . ‘ 6 each

-..a)  Agreed Bank Clause;
b)  Escalation clause.

R Rt o E R —— (¥ 6 99)
) T SR % Wi ane e R




8.

S 3 P
a) - Give any eight examples of Insurable properties.
b) - Give any eight examples of Insurable perils.

aiodt 3t e 33 gU aRed % AR s SR
Define warranty & give four examples of warranty.

e <o s o v i -

&) mm@mwmﬁaﬁm

Describe the following covers:-
a) Additional expenses of rent for alternate accommodation.
b) Silent Risk.

'c)  Spontaneous combustion.
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ASSOCIATESHIP EXAMINATION
CONSEQUENTIAL LOSS (FIRE) INSURANCE
3] . [Fwe®w: 100
Tlme 3 Hours] . {Total Marks : 100
Manawq’rﬁawzﬂﬁxq | THH YA & 16 iR § o T arframet At ¥
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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

mm(am)mm%mmmmamm“
fo5am T 27

Which are the Consequential losses excluded under a Consequential Loss
(Fire) Insurance Policy?

mm(m)mmmmmmmmmm,
mﬁwﬁmm@

What are the factors considered by the Insurers while uriderwriting
Consequential Loss (fire) Insurance?

. fmaww’ﬁﬁérﬁw%wm%'?

What are the advantages of a ‘Difference Basis’ Specification?

‘me’mw@%mmﬁwmwé? :

What are the salient features of wages cover on 'Dual wage Basis'?

mm(m)m%mmmmﬁm%ww%
ﬁr&aﬁﬁww%?




2 - AG-55
Which are the various alternauves of measuring business act1v1t1es under 12
the Consequential Loss (Fire) Insurarice?

mm%aﬂwmaﬁaﬁhmaﬁmaﬁm & 1

A ofd 10,00,000
ﬁaaamamaﬂﬁawz?rm S 1 12,00,000
affs edeler L & 60,00,000
e Tl ' i 50,00,000
gyl sraf & dm z:faﬁat . : 20,00,000
e = S il 2,40,000
sifa g & s . SR 7 1,20,000
Work out the claim amount payable based on the following data: R, 12
Sum insured : 10,00,000

' Net Profit and Insured Standing Charges , -t 12,00,000
Annual Turnover - . ' ol 60,00,000
Standard Turnover “o T 50,00,000

* Turning during Indemnity Period - . ¢ *20,00,000
Additional Expenditure  ©~ =~ - : : '2,40,000

* Saving in insured charges - - L : " 1,20,000
Prefofes &/ i 82 S md4EE)
37) gty afy o e ' ~
%) shftram S am

) vﬁmﬁaﬁ(mﬁ)m%mﬁmm?

What is the purpose of : o : ~ 4each
a) Property Damage insurance proviso '

b). Return of Premium clause.

¢) Adjustment clause in the specification:of Consequentlal Loss (fire)

- Policy?
¢ (5 4 57)
: a) wﬁrmﬁ@aﬁ%%m%qﬁaﬂmﬁamﬁﬁmmm%’
- q) Tl A % enre ST SR
T) mﬁaﬁw%wmaﬁmmmm
Tl frem @ e § v R 2
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_ 3 AG -55
a)  Whatisastanding charge and how is it different from variable charge? 4each
b) "Give eight examples of standin g charges. . .
¢) - What guiding rule is to be borne in mind by the insured in identifying

standing charges of his business? -

“HTRE T A G mmmmaaﬁquﬁwm 12
ot feft S g 217 '
mmmﬁ%wmﬁ%maﬁmﬁmm

S H R

“Insured’s profit mi ght be dependant upon not only his own premises but 12
also other premises.”
Give examples of additional premises which may be included in the

- (9% F 6 i)
a) mmmmmwﬁwm%maﬂnﬂmmmé@
Gt R far fea s el '
E)) mmmmm#mmmmmm
ER‘rﬁTrTFﬁ’il'ﬁ%E"

Consequentlal Loss Policy.

a)” What books of account haveto be consulted by the insured for fixing 6each
the sum insured on gross profit. ,

b).  What special precautions have to be taken by the insured in ﬁxmg an
adequate sum 1nsured‘7
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ASSOCIATESHIP EXAMINATION
FIRE INSURANCE CLAIMS
g 3EY ] o - [T 100
Time: 3 Hours] ' ' [Total Marks : 100
ﬁ:ﬁmuﬂ%ma&mumm% 16 3ie § Ry T St T E anr
‘ - aftuRm v j2 s H §

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
~compulsory. All other questions carry. 12 marks each. '

Marks .
L. mm%mm%maﬁmmmmw| 16
L. State the various hmltatlons to the extent of, Indemmty under Fire Claims. 16,

2 ;mm%mﬁmmm%mmmwﬁa 12
T 37 ‘ .

2. What is the scope of (e’ cover under Terrorxsm cover extensron in respect 12
" of aFire Policy? . . .

5 mmmmmmmﬁmmammﬂml 12
'a‘x’raﬁﬁ%?

3. What are the qualmes desirable on the part of claims. settlement off1c1als 12
while sett]mg Fn'e claims? . .

" aﬁam%maﬁaﬁwﬁaﬁmmmwmm 12

4. What action Insurers will take on receipt of a-claim mtlmatlon under a . 12
" Fire Policy? )
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mqaﬁmﬁ@éﬁamﬂaﬁmmawﬁmmmm 12
arfe?

Which various items of information a final loss Assessment Report Should 12
contain? :

Y fi < Fyofa falrat o sedre #ifvg, Gﬁ%mw%ﬁm 12
F g 0@ 2 ‘

Cite any two case laws Wthh have a bearing on the Principle of Proxxmate 12 -
Cause. ‘ -

ﬁmﬁﬁﬁ@-aﬁ?ﬁwﬁwﬁmwmz (T ¥ 4 37%)
3 qHT

) InfheeR & W

¥) Hel TR

Write a short note on the following add on Coverages :
a) Earthquake »

b) Architects fees

c) -~ Debris removal.

mm%mﬁﬁﬁﬁaﬁﬁmﬁﬁaﬁwaﬁm (A % 4 37F)
31) UUE it

§) "eR™d

§) < af¥ & g

4 each

vExpléin the conditions pertaining to the following under a fire policy: 4 each
a) Pro-rata average '
b) Arbitration

¢) Reinstatement of Sum insured.

frfafe arstt % wea #t we FH (w4 )
) T ot e o

¥)  Hfaled Rt Fi diftm w0 § 35 a7

W) i e g
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3 AG -56
Explain the significance of the following clauses: . 4 each
a) Local Authorities clause. '
b) Omission to insure additions extensions clause,
c¢) Contract price clause.. :

. 3T & SR, w@ﬁﬁaﬁ%mﬁ%wﬁ ‘mﬁraawﬁa%’rﬂaf 12

M)

DlSC\lSS the steps involved in loss assessment for machmery damage due 12
to fire. : .

.
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ASSOCIATESHIP EXAMINATION

FIRE & CONSEQUENTIAL LOSS INSURANCE

g ;36 ] : [&FeT 3ieh: 100
Time: 3 Hours] : [Total Marks : 100
Forl o1 uve & S @ifve ) mm% 16 m%ﬁamwﬁaﬁwﬁ%n
s aef TR UeT 12 IR HE

Answer EIGHT questions only. Question ONE carri¢s 16 marks but thxs isnot -
compulsory. All other questions carry 12 marks each. |

1. mmﬁﬁmﬁf@aﬁmﬁaﬁmm . (nﬁmamaias)”
- ) el wRedw o

) S ¥ wdm

H) W3W F IR _

3) aﬂvd‘aﬁazrrgqmmf

- 1. Explain the conditions in fire policy pertammg tothe followmg - © - 4each
a) - Material Alteration .

b) - Duties of insured.

c) Right of Entry

d) Pro-rata condition of average.

B aﬁm%q&aﬁmﬁ‘vﬁ'aﬁwﬁa%ﬁﬁ%aﬁﬁmaﬁﬁql 12

2. Elaborate the dlfferent meaning of expressnon “Va]ue from an insurance - 12.
point of view.

3. mm_mm%mﬁmﬁﬁm: (4 579)
o) afff smafy o :
§) . HFe THSER
w) o af¥

42 -




: 2 o ~AG-57
Descnbe the following in relatlon to fire consequential foss i insurance: 4 each
a)  Indemnity period - - ‘
b) Standard Turnover.
~€) - Suminsured.

- P R R Rt Ry - R R4
&) frfa e :

@) e ardt - '

) mmmmmmm sﬁ%ﬂﬁu

' Wme short notes on the following: » 4 each
ay’ Departmental Clause _ ‘ ' V
b) - Returns of premium memo ; :

c) Los‘ses not payable under consequential loss insurance policy:

W%w %mar:hwaa%@aﬁml S 12
Narrate the provisions of “Agreed bank. clause - : ' ‘ 12

. ﬁﬁmmﬁ%wﬁsﬁmﬂmaﬁmm (’ﬁ**ﬁﬁ)
I DR
_ir) mmm =

_ Explam the process ¢ of loss asscssment in relatlon to the followmg property 6each
a) . Building o
: b) Stock Hrprocess.

.'mmmﬁwﬁmm U (emEesE)

) mmwﬁmmm%mmﬁ@g

H) m%mmm%mﬁmw%mm
wmg@m smqEn

. Write short notes on the fo]lowmg : © .'6each
‘a) Operative clause under standard Fire & specxal perils policy.
~'b) “Subsidence & Land Slide including rqck sxde” peril as a built in
perll covered under the pohcy

" 43




. | : | 5
8. IFMEN AT Tl B g HRA |

- 8 Listoutoriginating Fire Hazards.

s Sfew ﬁﬂmﬁtﬁz‘ F FRT T 27

9 What is the scope of a RlSk Inspection Report"

10. ) ﬁwmﬁamﬁ%mﬂmaﬁﬁ%auﬁraﬁmm .
dmalt  wRreRRERTE e
(B om@id) (% ) (®. e )
a7 ' 30 8 ' 3
wile T el 50 - 60 : 30
BriterR e fheee 10 7 5
Eeac i : 30 45 27
w1209 ®, 12090 . 65 eTE

Wm%mﬁgﬂmﬂmmmmﬁ

w 1,50,00,000
@ 2.00 %o

100
200

30

70

20

10
afye 8 frar

60

30

31 fegat 20 orE 9ifva R

. 40 .
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10. a) - Calculate the claim amount Payable in following illustration :- ° 6
S.L Value as on Date  Loss Amount
of Loss ]
Building 30 S8 3
Plant & Muchinery .50 60 .30
Furnitures & Fixtures 10 7 5
Stocks 30 45 27
120 Lacs 120 Laes - 65 Lacs
'b) Calculate refund of premium in following example of Declaration 6
Policy :- . - B :
SumInsured . Rs. 1,50,00,000
Rate of Premium - @2 %0

Monthly declarations are as follow$:-

Month : ) Rs. in Lacs

Jan o 100

Feb. . © 200

March =~ 30 :
April. - 70

May 20

June , 10-

July Not Declared

Aug. , 60

Sept; .- ‘ 30 _
Oct. - .+ Deéclared on 31st Dec. as 20 Lacs.-
“Nov, o 40 - '

Dec. ‘ 30
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ASSOCIATESHIP EXAMINATION
CARGO LOSS PREVENTION

w3 ]  [geeiw:100
Time: 3 Hours] : [Total Marks : 100
Mmu&rﬁ%ma“rﬁq | g wvT ¥ 16 37 ¥ TRy T atfremed sl ¥
= Al yew we 12 i H E

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory All other questions carry 12 marks each.

' Marks,
1 AR R R o et R & G 8, T R
ERUCEES mmmqﬁm&ftﬁm%ww&wm
R ST Ra?
1. In regard to liability of carrier, bailees of other-third parties what is the 16

procedure that the consignees should follow in the event of loss br damage
for which underwriters may be liable?

e g I T T T
mmw@qmwﬁﬁmmmm

2: 'What precautions should be observed when using a mobile crane to lift, 12
lower and position loads? :

3. SeTE T s B S SR R g b 9 e 12
faferat o o aifer agen et €7 ' ‘

-3 Explain through examples how unsultable slmgs and i 1mproper slmgmg ’ 12
“methods can cause cargo damage. :

4 m@a%mmmamauhaa L (e am)
F) FER aOS F et ' '
§) g IS S A
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’ Descnbe the advantages and limitations-of the followmg ' 6each
a) - Fibre board boxes. :
b) . Muliti-wali paper sacks :

mm(ﬁﬁ)wwmﬁmwnﬁtmm%”m@ﬂi 12
3 1 B 1 WA 27

“Fire is a serious hazard in transit sheds and port warehouses * How can 12
this hazard, be reduced: ‘

Waﬁﬁm%mﬁﬁ%m%m%ﬁﬁwﬁﬁﬁ? 2

What are the rules for stowing mixed cargo with a view to preventing - . 12
. contammatlon damage?

(m%éaﬁ)
mﬁﬂﬁ%mﬂamwmwﬁ%mmam?
F) i gemd/m Saw
®) TG

How should goods, be stowed on board a ship to avoid : o 6each
a) Over-carriage/short landing '
b) - Pilferage :

ﬁwﬁr@a%ma&r@:- - (R %3 3i%)
%) U AT 6 SR vt 3 9 e & weear 2, TRy ) P
M
q) mmmwmwm%w@mﬁ@mm
FEI ]I
) %Wéﬁm%wmmmm@t
9)  Fufy G e gRdie @ w a2, S @
mqﬁﬁsaaﬁmmﬁwﬂwa%a

Give reasons for the followin g - 2o 3each
a)  Any assumption that the containeris a substitute for adequate packing
is an invitation to disaster. . :
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10.

10.

3 | AG -61

b). -The safe workmg load of a crane depends on the distance of the Joad
from the crane base.

c) It is important that the distribution of cargo within the container is
balanced.

d) Although shrink wrapping is an efféctive method of unitization, there
are divergent views about its potential for protection against pilferage.

"meﬁséﬁr@ﬁﬁMﬁmm%w

a) Shutout Cargo

“b) Direct Delivery of Cargo.

48

12
wﬁiﬁaﬁsﬁtwﬁﬁﬂaﬁ%mﬁmaﬁnﬁaﬁwm
2 ==t el ‘
“Planned storage reduces multiple handling of goods and facilitates smooth 12-
movement of cargo brought into and taken out of the storage area.” Discuss.
Preffem w sftr o fifag - L (5% % 6 37%)
F) WS-ART FAM
®) Frn H e gy
Write short notes on the following : 6each
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NOVEMRER; 305 SSURCERER L
afTReR STeT

ASSOCIATESHIP EXAMINATION
COMMERCIAL GEOGRAPHY

A3 ‘ : [t 37 : 100
Time: 3 Hours] | ‘ [Total Marks : 100
ﬁmﬁmm%mmnumm%mw%mwmﬁqﬁ%n
srmaf TREH Uy 12 3w R E

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

, Marks
L mﬁmmﬁamm@mmmmméwé”
=4t &
1. “The study of Commercial Geography becomes essential for a Marine 16

Undetwriter.” Discuss.

o ) fae S ¥ R S R o e o ) O 6 309)
) mmﬂwmaﬁﬁwa&mﬁw%mmm@
i1 87

2. -a) . Discuss the unhty of the Suez Cahal Route to-world. trade. 6each

b) Why is the Panama Canal Route vitally important to the economy of
United States of America? ' , :

3. MWWWWWWMWWWW%? 12

3. Whlch major ocean currents-do you consider have the greatest effect on li »
shipping?
4. Trefafea % drifes Hro s ; (3 & 3 37%)

F) X, S IAv i Rl e s e & e & o Raf F €
) WWWmmawﬁéﬁasmmaﬁxmmaﬁ o
Tsﬁs‘cn%l o
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M) AT S e A SR % Ie e @ Rk A & S A §
) WA % - am § @i € aen ster-ore e 8

Give geographical reasons for the {ollowing:- . : _ 3each
a)  Countries tend to specialize in those industries where they have an
advantage.

b) Importance of Panama Canal ]lL\ in the fact that it links the Atlantic
and Pacific Oceans.

¢)  Coral reefs generully are only a little above high tide level.
d)  Salinity differs-in degree in different parts of the sea.
: (% % 6 3i)
T fop Foretferfia weei 2 virifer wrafafa, Tl ST T gfeand au
Gl FIT-3AR S AT T FF 47 8
F) TEAEAA TEE T
@) g

State the geographical location. port facilities and mujor cargoes handled 6 each
at the following ports:-

a) Jawaharlal Nehru Port.

b) Hong Kong.

R B TS T faemer § 3 Whvm-awqﬁawﬁuw
TR F & | W qaed WA HY

M S epe g .
“India’s riverine system is vast offering possibilities of environment
friendly transport.” Discuss this statement.

ST SR & ST B’ 3 A1 § A1 A A e
T FK|

Explain the method of payment known as “Documentary Credit” in
international trade.

m,iaamaqmﬁmﬁmw%?

What are the salient characteristics of road, rail and air transport?
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) R AR FME) (7F ¥ 6 3iF)

@) ol oo A sraftef 0 Fruffes w03 At wre e @ 87

a) What is demise charter? . : . . ' 6 each
b) - What are the main factors which determine the location of a port?

. P w R B R - - (T % 4 3)

%) BiEha el
©) TN

)] agmwthqﬁaaq

10.

Write short notes on the following:- 4 each
a) Conference System

b) Cyclones

¢) Multimodal transport.
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| T FATSIe

ASSOCIATESHIP EXAMINATION
MARINE CLAUSES :
g 3ue] - [&e 3¥h : 100
Time: 3 Hours) _ [Total Marks : 100
Pl oo el 3 St R 1 W e % 16 st € ey g el R
g Tt TR ve 12 S

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks

1. T R ear o R e e 1Y ¥ I S T S e | 16
TEEAI B 79 78 TEE W A T8 @ S ) Geree e wii &
HICT o6t G T o1 S Grhel & 1 2P i srenfReren shrenat ) S Ay
%ﬁﬁmwéﬁré?mv@ﬁmm

1. Cargo arrives at destination unidentifiable owin g toobliteration of marks 16
as a result of a peril insured against, so that it cannot be -delivered to the
various owners. Does such a contingency render the underwrlters liable
for total loss? Give reasoned answer.

2. mv&ag&ﬁﬁsﬁwﬁ@aaﬁmw%mm (3 & 2 30)
%) mmm(q)%mmﬁwmm%m
¥ UREE ST A & ford et 9 o A A 2 ,
E) TSR BN FAAT (T) F wed 390 FRA S HR B B A
aft agaffa 2
™) AW, & 1.10.83 F shta e R Tud R ¥
TR X 3TE0T 2T el |
©) s & W & 1.10.83 %maﬁﬁwqﬁmﬁm%m
ST EE A g

* ¥) AT SR W AR AR I F AR, I O H GO B Y 97l
ﬁvﬂmﬂmmmw%mﬁmaﬁmﬁmng&aw
ST 3 st Tef ey 3 Rordk < a1
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) mmmw&mmmmm% '
FAETEY g arel @At el i 2

Confirm with reason(s) whether the followmg statements are True or 2each
False :-
a) Under Institute Cargo Clause (A)insurance attaches from loadmg of
. the goods at the assureds’ premises for commencement of transit.
b) - Damage to cargo by malicious act is excluded under Instxtute Cargo
Clauses (A).
c) Huil policy subject to ITC-Hulls 01.10.83 provndes cover on “néw
for old” basis. ’
- d)  Successive losses are payable under a hull pollcy subject to ITC-
; Hulls 01.10.83.
e) . After discharge of goods at destination port, the harbour area came
© " under heavy enemy fire and the consignment was damaged. Claim -
for such damage is payable under the War Risk cover.
f) - Losses as a result of operation of political or commercial risks are
covered under Sellers’ Interest Contingency Insurance.

(mmeﬁ)
mwmmzmsmmmmm%
mm%aﬁﬁm%mﬁaﬁmaﬁ -

%) THHRQTA

®) . v oK. SMfaw

) ﬂﬁﬁaﬁﬁ?ﬁﬂfrm(ﬁh‘ﬁ?ﬁﬁrﬁ)
w) ey firw

‘Explain the liability of Insurers under Hull Policies issued subject to 3 each”
“Institute Fishing Vessels Clauses 20.07.1987 in respect of the followmg

a).  Collision Liability.

b) P & IRisks.

¢) = Additional Machinery Damages. (Deductible)

d) Fishing Gear

mﬁm%aﬁzﬁ;ﬂmx 10836&1&#&@3@%@% 12
20787%aﬁ33@mw%‘7
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Briefly state the important differences between ITC — Hulls 01.10.1983 12
and ITC ~ Hulls Port Risks 20.07.1987.

Pt 3 T 3 o e 7 S o a7 e e g - @ 6 31%)
F) A W AT qifes
W) U W 2R S

- What is the effect of unseaworthiness of a vessel as regards :
a) Voyage policy on goods.
b) Time policy on hull?

SFRTEE FION T A1 e ao el 3 SR T 7§ wyae 12
(g I AeR) FAS H G a4 Hymansi @ auie H

Describe the similarities and contrasts in the Duty of the Assured (Sue 12
and Labour) Clause of Institate Cargo Clauses and Institute Hull Clauses.

. e AR A mﬁwﬁr@mmwaﬁ% (5% % 4 3i%)
%) R e F ofteda '

W) AT 3aTE o G VA § uiEdq

T T 1 BIEH T S T/ W Ea- w6 v

- Under the Institute Cargo Clauses, What are the consequences of : 4 each

a) Change of Voyage. < :

b) Change of destination after discharge.

c) Termination of Contract of Curriage at port/place other than
destination

PR A R 100985 F H-af de Famlem A sfan o
TaRa §?

What are the Risks covered under Own Damdrm Section of the Institute 12
Yacht Clauses O1.11.1985. :




. 4 AG -63
ﬁmﬁi@a%wﬁwﬁmmmmmm% (% F 6 37%)

&) W URIM F o Gt ity
®) IR Fi e

When does the risk attach and terminate under :
a) . Package policies for Rubber Estates

" b) Institute coal Clauses.

6 each

(S & 6 37)

aﬁ@ﬁammﬁam@mawmﬂmiﬁmﬂmm

I AT & S € S Aifie e ) Sa, el a6 @
I T ST A H T A F, A wense By et 3 simia o

“wE ¥ frgeT o -

F) RS wn A (), () o ()

T) PR T AR (FR) A SRS TR A (BR)? ;
It the insured transit is frustrated at a port or place short of destination as
a result of the operation of risks covered, and expenses are incurred in
unloading, storing and re-Yorwarding the insured goods to destination,

* explain how these expenses will be treated under —

a)  Institute Cargo Clauses (A), (B) and (C) -

b) Institute War Clauses { Cargo) and Institute Strikes Clauses (Cargo)? ~

55

6 each
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| T ST 3R
ASSOCIATESHIP EXAMINATION

MARINE UNDERWRITING -
q9g 36 , [T 37 - 100
Time: 3 Hours] : " [Total Marks : 100
wmwﬁ%waﬁqlumm%wm%ﬁm@wmqﬁ%l
3= Teft Wl w9 12 Mm

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
* compulsory. All other questions carry 12 marks each.

. . Marks
1. Fafafes 3 s - : (uvaamm)
T w) ?ﬁﬂmaaﬁmmmﬁmﬁm o sk
ST (CIF) Ffere 3 Siarfa =R & 9 §)
@) @m%mﬁmmmaﬁmm%ﬁﬁmuﬁ%m- )
- Ofya T A Fwa
") R Wi SR, waﬁﬁﬁﬁmm%mﬁwﬁ'
ot 78 S s =l
1) Wmmmﬁmm%ﬁf&%m@m%%aﬁ
ﬁﬂﬁﬁﬁﬁﬁmmmm@a@@aﬁq%mﬁ W‘
ﬁmmmaﬁquﬁl o

1. Give reasons for the following:- ‘ - . 4 each
a) Given freedom of choice, most exporters’ prefer to trade under Cost,
Insurance and Freight (CIF) contracts of sale.
b) Of prime concern to the underwrlter is:the value of the vessel declared
" for the sum msured :
c) The assignment of a cargo policy must not be regarded asa mere
" . incident of the sale of the goods : :
dy. Itis rmpossxble for an underwrrter with general cargo account to
* protect himself in respect of an unduly large line in any particular -~
risk by means of facultative reinsurance alone
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'ﬁaﬁaﬁﬁmmmmmm%mmm%m 12

PR Bl F T @ S it 87

What underwntmg factors are needed to be considered for insurance of 12
offshore units for drilling for oil/gas? '
ﬁmmﬁ%mmﬁmaﬁm%wmm% L (R %6 30)

%) i« aAffEm, 1963
W) Py 2TEH A ged 1,10.837

What are the provisions of Return of Premium under the : ' ‘6 each
a) - Marine Insurance Act, 1963. .
b) Instit'ute Time Clauses ~ Hulls 01.10.83?

(nﬁrsé;sm)
F) éﬁmm%mm‘ @ 9. (), &) 721 () F g R
IS YT o e aTaia g $Ree AR T (F100) % aed
yiftret fpa mar &7 RS ,
) 33 W e ¥ R e, /. . (9), (&) T (@) R Tt
,'ﬁmamh”m%mmﬁlﬁﬁﬂgﬁeagmma
(STT) % et Tt fopar a7

2) What are the perils excluded under the “War Risks Exclusion Clause” - 6 each
of ICC (A), (B) and © but included in the Institute war clauses
. -(cargo).
b) ~ What are the. perils excluded under the’ “Strikes Risks Exclusion
Clause” of ICC (A), (B) and (C) but included in the institute strikes
clauses (Cargo)

(nﬁrs%mm)
mm%mmﬁﬁgmm%ﬁmmm
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Discuss the specnﬁc underwrifing feutures associated with transit Insurance 4 each
of following goods. .
a) Cotton Goods.
b) Sugar
¢) Tea

O g 9 & 1 & R don-sim & B sRal @ wm F @ 12
SEYTF ET 87

What are the underwriting factors that need to be considered fori msunng 12
a Fishing Vessel?

mmﬁﬁéﬁmmmﬁaa#mq@@m%wﬁ 12
mﬁm%mg&énam%maﬁgq%ﬁm% Eﬁmésﬁ-ﬁr

i

Wmﬁwmmmmaﬁm Wﬁﬁmmﬁmﬁt@ﬁ?

As an underwriter you aye approached by an exporter to insure a 12
consignment of readymade garments in:bales from Mumbai to Cairo via
Alexandria, with transhipment at Aden,

What underwriting factors would you take into account while considering

this proposal?

“mﬂaﬁf@ﬂawmmmmﬁmmmaﬁm 12
F R 39 FAT W remor frwvh Ht)

“Nature of a vessel’s cargo sometimes affects hull underwriting.” Comment 12
on this statement with examples.

(5 & 4 3i)
ﬁnﬁf@amsﬁﬁaﬁmwﬁmwmaﬁaﬁmm%ﬁ%sﬂ%
TR0 & 8 AR e e f -
F) I, SRl ST d
@) wgm
M @ q Rt
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10.

4 ' AG -65
Describe following extraneous risks .md give examplec of commodities. 4 each
which are susceptible to damage thereby;- »
a) . Rust, oxidation, discolouration.’
b) Contamination
¢) Shortage and non-delivery

. mmmﬂg@wwmmvﬁn@mmﬁmm 12

FufT W

What are the ‘marine underwriters’ chief books of reference. Describe 12
briefly the contents of two of them.
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" ASSOCIATESHIP EXAMINATION
MARINE INSURANCE CLAIMS

T 3ET]
Time: 3 Hours]

ot a1re wAl & e i 1 g v & 16 m%&ﬁﬁaﬁaﬁqﬁtn

mmﬁmmlz FmHE

AG-66

[ ofeR : 100
[Total Marks : 100

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

MWWWI 10.83 % & £3,000,000, F4T Yeaifded, &
ot £40,000 Ft 2t A R 3 W e ot ‘o O T FeFT AT
m%aﬁmﬁwaﬁ%aﬁéum%mmaﬁ@m

of i & s 21
- frafafiaa wifat o &
R Thﬂ"aT’
S . 3

g &fa ; : - 3,000,000
farens o ’ -en
it H e : 200,000
T o TRy el

TFH % f 9 o A T0% mﬁa‘a’ﬁm%ﬁﬁmm%m& :

e
3

600,000

200,000

100,000 -

350,000
380,000

,ﬁiﬁmmwmaﬁm%%ﬁﬁa 3 o vifert % sferta

T A

Vessel ‘A’ insured for £ 3,000,000; so valued, under Instltute Tlme Clauses -

— Hulls 01.10.83 with a deductible of £ 40,000 sinks and is a.total loss
after colliding with vessel ‘B’ which, as a result of the collision, also

damages port installations.
Following losses arise:-

Marks

16 .

16
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Vessel ‘A’ Vessel ‘B’
£ £

Hull Damage ' 3,000,000. 600,000

Demurrage . . Coe— 200,000

© - Crew injury 200,000 = - 100,000
* Cargo Damage , - 350,000
Damage to port installation — 380,000

Vessel ‘A’ is held 70% and vessel ‘B’ 30% to blame for the collision,
State the claim under vessel A’s policy when neither vessel limits liability.

2. and i aftre are § 0@ w0 F R v R S ww ym A e 12
o g mﬁzﬁ & & ST T HA? ‘
2. Indicate the salient information you would expect in a standard form of - 12
Survey Report on cargo which has arrived damaged. ’ ’
3. eﬂmwaﬁ- Y 63
%) arafes WRY I T gl gun mﬁ :
©) mmmmn '

3. ‘ Dlstmguxsh between : : o o 6-each
a) - Actual total loss and Constructwe total loss. ot !
b). Subrogation and Abandonment. - ) :
o ‘ (m% 6 m)
4, ﬁ)‘ﬁﬁfﬂﬁﬂgﬂw%ﬁmmﬁmmﬁammmﬁam .

i Resaie o e s 87
W) g a5 e o S e o 3 e & e R
‘_Waﬂﬁ%gmaﬁmﬁmeﬁﬁaﬁm@?ﬁ%?

4. a) Whatis the principle applied when there are two or more general 6 each
-~ averages on the voyage? :
b) What does a ship owner require from a cargo owner in.order to
secure the latter’s contribution to a general average which occurred
on the voyage"
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| 3 AG -66
frfefias =1 mem wagmET - (FAFF 6 3iF)

&) g 9 A e
@) WEFY S e A

Explain the significance of the following :
a) Geperal Average Bond.
b) General Average Guarantee -

3. . /. (T) & #ga w. 30,00,000 3 o iftr, 7w & @ 3 1,000
Sferal &1 e TREOT TEIHTSN § TEE S T | St % e W 6 96
T 60,000 6. m. aer fme a9 58,500 fF. 0, 911 SR 9T (I A
9R) % FHRT M1

e g &g A 1,000 aferdi 1 e a9 59,200 5. 7. o,
RoTi @ 10 Serat A 3T 35 T W g o1 e g el Wt
T 360 5. . o) _

w1 g AfeTal & TR H1 S FH 7O G el T A S T G 35
f5. . afT aTyfeal % FAv 39F I § 40% 1 YTIE emE T
T Yo @ . 400/-

wifert % ARd 37 TS P T HL

A Consignment of 1.000 bags of cotfee beans, shipped from Guatémala
to Muibai, are insured for Rs. 30,00.000 under ICC (A). At the time of

shipment, the consignntent weighed 60,000 kgs. Gross and 58,500 kgs.

nett, the difference being the tare.
On delivery at Mumbai. the 1,000 bags weighed 59,200 kgs. gross
including 10 bags which burst as a result of an insured peril. The burst

" bags weighed 360 kgs. gross.

Sweeping from the brust bags collected separately weighed 35 kgs. but

the value was depreciated by 40% due to impurities. Survey fees amounted

to Rs. 400 .
Calculate the clatm payable under the policy.

/e TR Sl ¥ o ST TR 1 g A

List the documents required for Rail/Road Transit Claims.

62

6 each
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8. wﬁ%&v&ﬁwﬁamﬁmmfﬁm%wﬁﬁeﬂ%

9.

4 ’ AG -66

TN T H e FAE

F) HRA N A AT P o A R S e 2 A St A
" e P o 9 ‘

) ﬁmﬁwmmm@mmﬁmamwgﬁm
U FIERA el

Insurer hus to settle a cargo cl.nm with a consignee overseas on an export
made from India:
a)  What are the exchunge control regulations governing remittance of
claims on exports from Indi:.
by  What facilities are made available for \Lllk,mtul of such cl.ums
- payable abroad?

U e AT HIET A S0 WS H TE R, 6,00,000 F ot it §)
@%ﬂﬁamamwmmﬂm@mmwmﬁ :

AT &, ST 10) TS A 207 o R e wel S S 1 o erfer
ST H G 6 S 30 T e A et € o v A 4 8 iy afR g
m:mﬁmmmﬁwﬁéﬂﬁmm%mﬁwﬁﬁa

2,000 Ht e ¥ & £ 1 P pa R €L 400 1 T 9 4 R
mmmmammﬂ? AR 7 Fo e <ffeh weln

fortl g2 W gewlq A6 &1 e, =4 M E 0,000 T TE R R YA
famwmmmmmqm AME. {5,000 ¥ M2 ) T I F. 600

&1 10 & T W A 5 2 e o T

A Consignment of 50 bules of textiles of uniform value are insured for

(m% 6 i)

6 each

Rs. 6,00.000. Following a casualty by a peril insared against. the vessel

has putina port of refuge where 10 bales are found to be damaged by the
insured peril. Of these damaged bales, 6 bales are so badly ddmdged that
delay in disposal would aggravate damage. and so they are sold at the port
of refuge realising gross Rs. 2.000 per bale. Sale charges are Rs. 400.
The balance of 4 damaged bales were forwarded to destination with the
rest of the cargo. As no allowunce could be agreed with the surveyor,
these 4 bales were sold for Rs. 9.000 per bale. Gross sound arrived value
was Rs. 15,000 per bale. Survey fees amount to Rs. 600.

Calculate the claim payable by the insurer on the 10 damaged bales.
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10.

5 AG -66
forefafiaa w gt feoof fod - (4T F 4 5iF)

) T H I

|) Q@émméaaﬁaﬁaw
M) zFER TE A e e

. Write short notes on the following : - 4 each

a) Purpose of survey.
b)  Essential features of Sue and Labour Charges.
¢) - Demurrage in ‘collision claims
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it ofar
ASSOCIATESHIP EXAMINATION
, , MARINE INSURANCE ' :
T3]  [gersiE: 100
Time: 3 Hours] [Total Marks : 100
Wmm%wmxmm%m m%ﬁ;ﬂazarhaﬁqif%n :
3 A T U9 12 I HE '

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

1 A 3 uell & T R 7 SgW AAERY ¥ 9ERY a& 3 W
o, 9. 1. () ¥ wea R T @ o & 10 99 § e S @w F 100 -
=X B 1 T | R 3 e gt o
F) TS I A 20 T S/ qola: sfne fed
T) T T AR T (0 TR iR w9 @ g el
M) 3T a A e e gen # frefh
mmmﬁwmmmm@m%m%mr
TR ?

Marks
16

1. A Consignment of tin sheets has been imported under ICC (A) on 16
‘warehouse to warehouse’ basis. There are 10 boxes in the consignment, ’
"each containing 100 sheets. At destination, the consigneefound the following
damages :
a) Inone box 20 sheets are found fully damaged by rust.
b) Inanotherbox 10 sheets are found partially damaged. .-
c) The contents of other boxes are found in good condition.

How will the surveyor assess the loss and what advice will he glve the
insured regarding loss minimization?

2. ®) ﬁﬁ?namaﬁmaﬁ@wﬁﬁ“wéﬁgsa?mnﬁ”%mﬁaﬁh 6 -
{3 e 21 31 59 S99 A FY haw JgqE? _
@) mﬁmmﬁﬁwﬁmm%{ﬁﬁm%‘l 3
) ﬁaﬁw@ﬁa’rﬁwmm%@mwé? -
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a) Banking and Insurance have long been described as “Twin Pillars of 6
. Commerce.” How do you justify this statement?
b) Explain the various documents required by the Bankers.
¢) How remittance of claims on Exports are made?

Fard % Fraffan el smafe § ar et (% & 1Y4 37%)
i) 3SR FO FEES (), () o (&) ¥ skt
F) U ¥ Te gug § R 99 A s
) Uhe TR W T & RS
) HETE A IS % I U § T e Feer o wom i @ s
¥)  aqRE dewe
=) ol s
ii) ¥PREE 2 S - e 1.10.83 ¥ i -
F) HN A M, IS AT TR HA F S g § wOn A
R At e ey
@) o I % P § defe o
) RS & ITHON U G B F BT O B a el afy

State whether the following losses are covered or not 1V5 each
i) Under Institute Cargo Clauses (A), B)or(C):
a) Cargo Washed ovérboard;
b) Discharge of Cargo at a Port of distress;
¢) Total loss of any package lost overboard whilst loading or
unfoading from a vessel;
d) Improper Storage;
e) Piracy
it} Under Institute Time Clauses-Hulls 01.10.83 :
f) Loss or damage to Cargo caused by accidents in loading,
discharging or shifting.
g Expenses incurred in connection with Oil pollution Control.
h) Damage to vessel due to contact with harbour equipments.

%) SREE ST AN 11,1987 ¥ Ted SR AT o a8
A | |
@) el R T A el sl % ford it o A A 87 4
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a) - Listthe Risk covered and Exclusions under Ingtitute Contamer Clauses 8
dt. 01.01.1987. ,- L
) What is the measure of mdemmty for damage to acontamer" R R

Wa‘m%mﬁmﬁmﬁqqﬁ@m%mmmﬁaﬁ 12
70T HN? o

‘What material facts would you expect to be dxsclosed ina proposal for 12
Hull Insurance? :

(na}massaw)

F) W%ﬁﬁqm%amaﬁﬁﬁﬁwmﬁ%&mm L
27

) qﬂqaﬂmﬁmﬁmaﬁmaﬁl

a) Define Insurable interest and discuss its apphcanon in Marine 6each.

Insurance.
'b) Explain the effects of Assignment in Marine Insurance.

Frfafan ¥ frga ®Y ford - ,  CREW )
Expandthefollowmg o : ~ leach’
a) CRO .- by COGSA

¢) GNPI ' d) ‘Jand/or WO

e) FEAS’ f). CKD -~

g) GASV h) IATA
.1 MILA. j) EC.&S

k) fwd - ) SDR

(9?3?5%3 3i%)

@W%Wﬁﬁqﬁmﬁsﬁsﬁmmmmﬁ -
F) TEA IS IER H FIA

@) FHR Y Y IR A B v

M) WA F SARHR I I H Hor e e

u) fosd hifam o snftedy fewr

67




4 ‘ -AG -67
8. As an Underwriter, assess the risk factors involved in the fol1owmg - 3each
a) Over-dimensional Cargo
b) Less than Container Load Cargo.
¢) Vessels plying in Port waters.
d) Tail-end of a risk.

9. QAT I F gt <l F e F R ovves sERST A TR 12
9. List the documents required for settlement of Sailing Vessel’s Hull Claims. 12
10. Ryt feroqult for - ' ' (5% % 3 3i)

F) Bl @ gRET I és Nk

@) TR TE T g

M) aftfa go o

q) mwmwmmgﬁ

10. Write short notes : k o 3 each ‘

" a) . Advantages of unitizing the Packages
“~b) Pair and Set Clause.
c) - Increased Value Insurance
d) = Actual Total loss and Constructive Total Loss.
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ASSOCIATESHIP EXAMINATION

AGRICULTURAL INSURANCE
W3] : [T 3 : 100
Time: 3 Hours] : [Total Marks : 100
el 28 Wt & S AT | w6 16 m%ﬁr@agarﬁraﬁ:ﬁ%l
= At U ue 12 S E

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

. Marks
1 %) T RREH A e T €. 12,000, [EE sEa . 10,0007 S

HU B &, 30,000 3G Ao foram | Sredies et & it 1.5 3RIR

& 81 S0t o Wi e Rl 3 for 3.5% e s 3 forg
T 4% & feum A e it av R 87 A
@) e, e el s 9 st deEr 2650, I6303=ﬂﬂ940%| 5

e At YA B 1350, 1710 31K 1945 6. 70, 3R 392e

¥ I o B 3 a &) o HR :
M) ﬁnﬁaﬁaaamﬁ%mquﬁzoosmm%ﬂ@aﬁwﬁ 6

% sfergf W W e Yaraw = moE AR
L) vt e
- P oafa e
2005 2100
2006 2350
2007 1950
1. a) Afarmer has insured Soya bean crop for Rs. 12,000, Sunflowercrop . 5

for Rs. 10,000 and cotton crop for Rs. 30,000/~ Area under each crop
is 1.5 hectares. The rate of premium for Soya bean and Sunflower is
3.5% while for cotton it is 4%. How much premium the farmer paid?
b) Threshold Yield for Soya bean, Sunflower and Cotton was 2650, 5
' 1630 and 1940 while Actual Yield was 1350, 1710 and 1945 Kg. per
hectare respectively. Calculate claim payable to above farmer.
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¢) Calculate threshold Yield at 90% level of indemnity for wheat crop 6
for Rabi 2008-09 season based on the followin g data :
year Actual Yield k.g.
- - per hectare.
2005 - ~2100
2006 2350

2007 . 1950

) IRA § wwet d ¥ weafa g qeee S 6 .

q) S AR e Wit & sl st Uty qer fiftraw san) wen 3
9 wiferedt 3. 3meRor (@) ==t Ay

%) mﬁ(ww)m%ﬁﬁﬁ?ﬁwwmaﬁaﬁvjﬂaw 3
EaiE Ly ‘

a) List out-problems associated with crop insurance in India. 6
~ b) What is.Sum insured and premium under Janata Personal Accident 3

Insurance policy. Also describe coverage (benefits) under JPA.

c¢) - List out any three common exclusions in cattle Insurance (Market 3
Agreement) Policy.

mﬁawmmmmm . (50 % 4 37F)

i) Y swife

i) Y e dm

iti) - FR g F
iv) Wﬁm

Write short notes on any three of the following : 4 each
i}  Agriculture Revolutions

i) Agricultural pumpset Insurance.

iii) Benefit of Agricultural Reinsurance.

iv) Honey Bee Insurance '

Pt e i Froufora o - (s 4wy
F owgwm ‘
q) TREd g SiteERar (e afedif)
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T R

Write short notes on any three :- _ - % 4each
a) Rinderpest. ‘ , :

b) - Hemorrhagic Septicemia

¢) Black Quarter

d)y Anthrax

ﬁ-‘»’%’fa‘maafaﬁﬁq SR (5% % 6 3i%)
i) siferar & wae d yEya
iit) i darat B e

Discuss any two from the following : _ 6 each
i) Catastrophlc risk protection in US crop insurance. - '

ii) . Crop insurance arrangements in Australia

iii) Work plan of Hail Insurer

FHFE Ao A F g A ool A S 2

. Elucidate important ‘Exclusions’ of poﬁl‘try insurance scheme. 12
(nﬁa.'% 4.3i%)

mm(mw)m%mﬁwmﬁﬁwm
-

) manam%m
) smged

%) oA ao oy ufy
3) aff

Explain the followmg in Cattle Insurance (Market Agreement) Policy 4each
Answer any three:- '

a) Types of Cattle Covered.

b) = Age Group

¢)  Valuation and Sum Insured

d) - Indemnity
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ﬁnﬁr@amqwqaﬁmﬁﬁ@wﬁﬁwml (T E 4 30)
) amERa wEA é
9) A SR (F7dw)

F) ity ¥

Describe the followmg features of NAIS: : 4 each

a) Crop covered.
b) Corpus Fund
¢) Premium Rates.

(9% F 4 37%)
mmﬁémmm%whmﬁaaﬁwﬁ?hwm 31T o it

! =i S

) s s
q) Yo AEEH

%) e

3) T R H ©ih

Describe coverage and premium rating under Kisan Package Policy in 4 each ’
respect of the following : (any three)
a) Television Cover.

b) Pedal Cycle

¢) Baggage Insure

d) Stock of Farm Produce

et o fereRa & Rl - ‘ L (REF2 30)
Give long forms of the following :- ' 2 each
a) NDDB ’ i

b) CCIS

¢) NAIS

d) IRDP’

e) GCES

f) IVRI

-+« END --=--
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ASSOCIATESHIP EXAMINATION
: MOTOR INSURANCE . e
g 3] ' [ 3fer : 100

Time: 3 Hours] ’ - [Total Marks : 100
Mmm%wmnmm% 16 m%ﬁmﬂmqﬁ%l
g aeft vt wv 12 AR H T

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. ,ﬁagmmmmaﬂmmameml 16
1.  What are the procedures and powcrs of Motor Accident Clalm Tribunal? 16 .

2. e e e 35 et el 3 Rreafa o s ) v AR o
g 5 e R g o e e o e o e v €7
2. Discuss the applicability of principle of Indemmty in Motor Vehicle 12

Insurarice. Is there any variation in the prmcxple as compared to the
traditional principle of Indemnity.

_ (% % 4 i)
3. i) Wevawd sfufEm & 10 3 erer § e AW w afyE” wasi @
T 1w A T ar 27
i) 8 g @i ey o e g 82
iif) P S e i o et €7

3. i) - Chapter 10 of Motor Vehicles Act deals with “Liability without Fault.” 4 each
- What is no fault liability? .
iy How it differs from “Fault” liability?
iii) Are there any limitations to No Fault liability?
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eyt ferwaforaf ffa (€ i) -
i) fafy od ey yoR & T

i) e afE '

iii) FEe/fars e v

iv) - STUIHTE 7O 3 Srmfy

v) SIoT Ued AN

Write short notes (Any three)
i) - Miscellaneous and special types of vehicles:
ii) ~ General Damages.

" iii) - ‘Arbitration condition

iv) Authorization for emergency repairs.
v) - Jalad Rahat Yojana

erﬁmm Tt < W g, qﬁqﬂaﬁtm-gsﬁaﬁmﬁ 12
B ) 3 3 T T Sl &) T 2 3 Faan ot i e v oy

- ==t iRy

With increase in number of vehicles, increase in number of accidents,
increased cost of labour and spare parts, it is essential to adopt prudent
underwriting practice - Discuss.

mmm(ﬁém ‘ (e ¥ 4 i)
%) el Tl | v

q) o Ao

T AR AT

¥) o aRedA

Write short notes on :- (any three)
a) Hire Purchase Agreement.

b) Cancellation of Insurance

c) Transfer of Vehicle.

d) Change of Vehicle.




' Vi _ AG.12
mm%mﬁmmmmm (% ¥ 4 30)
i) A o TS ’ o

i) <@ I
iii) wReErer &

Write -about the xmportance of. th,e following factors in motor ‘4 each '
underwriting :-

i) Driver of vehicle.

i)  Claims experience

" iii) . Area of opération

w e (Rt ot 3 ant ) (R ¥ 4 5iF)
F) s &3 1 fwr : .

|) T F T TFR FR

M ARHH :

) awﬁqaﬁt/maﬁaﬁﬁawm

Write in bnef (on any three) ;- . : 4 each
a) Extension of Geographical Area. '

b)  Knock for knock agreement.

. ¢c) TPPD:.

d) Fire and / or thefis nsks cOover.

. Mﬁsﬁmmtﬁam(&éﬁ)m%maﬁmmw%lﬁm o
' %mﬁm%mmaﬁ%mwmamﬁwﬁaﬁ%l
ﬁwﬁr@ﬁﬁm%mmﬁﬁrﬁ(m@mﬁmm

'1) HiEgw : - FEWR 2006

H@ﬁaﬁaaagﬁrfaﬂmm - ® 20,000

- dyof A 9 e (W Y e - ¥ 10,000
10% St i & 3)

- WA fieds mmee 0 - ® 5,500

- W HIPREIEN(4X®.4,0000 . - & 16,000
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- e A R e wen - % 10,000
- ToRh (TRRAS50% e AR ® 10,000
iii) A H geg -
e AT SR §7s & IRaR i § T ufdr ¥, 1,00,000
(iv) IR @ AR R R o - A ® 7,000

A private car insured under Motor Car (Package) policy, is damaged in an
accident arising out of collision with a compound wall of a building. From
the following particulars assess the loss payable (Before excess)

Model - November 2006.

Damage to vehicle - .

Replacement of metal Parts Rs. 20,.000/-
Painting for the whole vehicle Rs.. 10,000/-
(Surveyor allowed only 10%) :

Broken wind shield glass replaced ' Rs. 5,500/-
Worn out tyres replaced 4 X Rs. 4,000/- Rs. - 16,000/
Upholstery upgrade ’ : Rs. 10,000/-
Labour charges ) Rs.  10,000/-
, (Surveyor allowed 50%) ' ’ '
iii) Death of Driver.- ;
Ownrer of vehicle paid to his family members . 1,00,000/-
iv) Damage to compound wall - Repair cost Rs. 7,000/-

10. ﬁﬁﬁmﬁéﬁm%mﬁarﬁaﬁmaﬁaﬁﬁﬁmm%ﬁmﬁ@%
Hﬁ‘ffml

10. ‘What are the various discounts available under Private Car Package Policy.
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NOVEMBER, 2008 s : R R

| R iEqnn) , Sfrardt wet fafrer sftar
ASSOCIATESHIP EXAMINATION

PERSONAL ACCIDENT, SICKNESS & MISCELLANEOUS

, INSURANCE
wWT3EHe] v ' (et 3fe - 100
Time: 3 Hours] : - [Total Marks : 100

Tt a1rs el & SR AT 1 v v ¥ 16 3 § oy ag st i &
F At yRE v 12 simH T

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

130 S gl 3 R 3 P e, s

ST R T A 87 Sere 1 gy 59 W aret At

%) W AR gl fi % g Rivanel o vt AR 6
L. a) How are the principles of indemnity, subrogation and contribution 10 -
applied in personal Accident Insurance? Discuss giving examples.
b) Describe the salient features of the group Personal Accident insurance. 6
2. %) S AfEFem FwE .0 % G W aw SR e o0 i g
ST ) g Rdward s :
%) M diferdt % siwfa R iR st oY, SR SRRe 4
2. -a) Describe the contents of indjvidual Mediclaim Proposal form and -8
also state the special features of declaration incorporated therein.
b). What are the extra benefits available under Mediclaim Policy without 4

charging additional premium?

3. %) wd e A ARRA e W d S O o R 4
TER 3 frar s £7 ‘
) mm%g@mﬁﬁmm@m; : 8
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a)

b)

. #)
)
%)
?)

: 2 : AG -73
Which factors are ordinarily considered by Insurance Company before 4
issuing All Risk Insurance Policy?
Mention some of the important exclusmns of All Risk Insurance 8
Policy.

ot ot e wiftre Rt fafta - , L (Om %4 3)

wiafafy/aed & FafsT
w o :
fare srenfeesar A

Write short notes on any three of the following :~ 4 each

a)
b)
<)
d)

)
)

i)
i)

Duplicate 'key clause’:

Sports Insurance

Personal Accident flight insurance coupons.
Special contingency Insurance.

(sraias%éeﬁ)
o ST YT O § ‘@aﬁmﬁm-ﬂﬁéaﬁml

o i F ervafela aifal g

Enumerate the questions which are generally asked in Money 6 each
Insurance Proposal form.

List out the losses which are excluded from the scope of Money
Insurance.

Sy o oy SRR 8 g e o A 82 @ P 12
35 e e o7 S e o et AR

Under what circumstances first foss policies are issued in Burglary . 12
Insurarice? Discuss the relevant features including the aspect of rating.

WW%’WWW’WWWI 12

Describe the office protection shield considered for general offices. 12
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8. mmmmmm%mmmml 12
8. Distinguish bétwecn commercial Fidelity guarantees and court bonds. 12

9. &) WWW%%M%MWWWMWWSW)
£} mﬁaaﬁﬁ-nﬁﬁgaaﬁmnﬁrwﬁﬁﬁaa@mu&rﬁmaﬁmu

9. a) Specify the cover available under the different sections ofthéBankers’ 4 each N
Blanket Insurance. - ) . '
b)  What is meant by Basic sum insured and the Additional sim insured
in the above policy. : v ‘
. , L (wE s )

10. %) T Herendh i iR . 2.50 W AR F et At 1gw
% SFH . 90,000 o1 71 5 & 1 81f b v SRa ol TRy
¥, 2,25,00,000 911 &S 3 27 TRy 3 2R :

) T T SR E. 10,00,000 9 g G ) 8t e & e s
S e . | g &1 v 2R 0.20 %o T P 1 s o TRy
fereit geft? :

q) qasgdzwﬁﬁwm%mﬁﬂﬁﬁswgmaéﬁ%mwm -
ﬁmmmmﬁmmnmﬁ#%mﬁma’s
mm%mmmma&mﬁm%msﬁs%

Tt SAif¥ren srerern +ff 5 1 Wi 3 st . 3,00,000 S TRy
21 37 0 % Tor it ‘

R) W xlhe Rvam aRef s w 40,00,000 st Tftr =¥ 400
ﬁaﬁﬁ@mmélm%m%maso,maﬁ
aﬁﬁﬁm(maﬁmm)ﬁgééuméanﬁrmﬁ?

10. a) A burglaiy policy has been issued for a sum insured of Rs. 2.50 3each
croroes. A Loss occurred thereunder for Rs. 90,000. It was however
found that at the time of loss the value of property at risk was
Rs. 2,25,00,000. What wouid be the amount of claim payable?
D A money policy has been issued for a per carrying limit of
Rs. 10,00,000 and estimated annual carrying Rs. 1 crore. The
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premium rate was deterrnined to be Rs. 0.20%.. What would be the '
amount of premium?
The insured was involved in an accident in which he suffered a fracture
of his right leg. He was hospitalized for one week and thereafter
treated at home. He was fit to resume duties only after 8 weeks from
the date of accident. The doctor opined further that due to effects of
the accidental injury the insured had 5% of Permanent Partial
Disablement. The sum insured under the policy is Rs. 3,00, 000

Calculate the amount of claim payable.

A blanket fidelity guarantee cover was issued for a sum insured of
RS. 40,00,000 covering 400 employees. An employee through his
dishonest actions caused a loss of Rs. 50,000 to his employer, our
insured. What would be the amount of claim payable?
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ASSOCIATESHIP EXAMINATION

LIABILITY INSURANCE
g 3T ; (& 9 2 100
Time: 3 Hours] [Total Marks : 100
meﬁ%wﬁmmmméﬂﬁ m%ﬁaﬁﬁaﬁmﬁﬂﬁ%u
: Faft rEm w12 s F E

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each. :

- Marks

1. 3R 2 S 3 Sifgw frafor R A e Ea Rl s s A L - 16
1. Mention the items of information in a risk assessment rdpqrt for products 16

liability insurance.

2. "3 ¥Y SRR A T S e A A W GRS AR W W 12
B &1 Faferp-froter 3% g 50 o o e AR

2. “A civil action for negligence can succeed when four conditions are . - 12
.satisfied”. Explain the statement with case law. :

3. Ry v st aifie diferd & aR # frarges feol fafew) 12

3. Write a co_mpréhensive note on Directors and Officers lability policy. . 12

4, S R (st T st ) S s AR 12
,awaﬁwm@aﬂmt Lo

4. . Name the major exclusions under public liability policy (Industnal and 12
Non-industrial risks). :

5. mﬁammﬁmwm%aimhmzﬁwmm%m 12
. SYATS SAETel Hr-veafy F AR F aand)
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- Whatis the claim procedure for a claim under liability Insurance Act 19917 12

. mma(ﬁﬁm@m)m@mmmma-ﬁwwm 12
H & 0 - T Frareoit %) smrervassar vt &9

What are the details required for ratin g and underwriting a public liability 12
(Industrial risk) proposal? ‘ : -

: (7% ¥ 4 3iF)
mmaammmmﬁmﬁm@@
frferfad & aR & Rroafirt frfia - '

F) afergd
) =& A9 gedt g
) viferedt & steia ferdy arwasiy

With reference to professional Indemnity policy for Medical 4each
Establishments, write notes on the following :-

a}  Limit of Indemnity

b) Claims series clause.

¢) Special exclusions under the policy.

o=l ey % aR F wiftre frafrt R - .
&) S s siffan % simla 2 wee of
g) d<ers it

) ST e S, 1986

¥) 3R Al fafy

Write short notes on any three :

a) Amount of relief under Public Liability Insurance Act.
b)  Punitive Damages.

¢) Consumer Protection Act 1986

d) Law of strict liability

FHFR G sfrm, 1923 % shvfa dm el Ry Pt i R 12
wrard? \
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9. "How is the amount of compensation determined under workmen’s 12
Compensation Act 19237 - :

10. &Y Grffen anftr 5l ed 7 WSROI W gr AR S S A d 12
A % 72 e g wny drar &1

10. What is excess of loss reinsurance? Explain how it operates in liability 12
insurance with the help of an example,
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ASSOCIATESHIP EXAMINATION

ENGINEERING INSURANCE
g3 - [Fer st 100
Time: 3 Hours] ' [Total Marks : 100
Tt o vl 3 I SR | worm wve & 16 stes § ey o sttrard i €1
' o= asft el we 12 st T

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questlons carry 12 marks each.

Marks
1. m) Wﬂmﬁsﬁm%mmwwaﬁaw 8
W) 39 uiferd & el o~

i) <ma ofr 4 fraffa 9 s 7. 4

i) efergf srafy 39 fuiRa o s 87 4

1. a) * Describe the cover under Machinery Loss of Profits Policy. 8
b) How under this policy : . ‘

1) Sum Insured is fixed : 4

ii) Indemnity Period is fixed? ' S 4

2. ®) W@ﬁmwmﬁﬂﬁ%wﬁm%ﬁmwmﬁmw 9

IR :
@) I Hiferdt W S arfed w1 seorg Hifg ) ' 3
2. a) Describe scope of cover and exclusions under Boiler and Pressure 9
Plant Policy.
b) Specify warranties applicable to the above policy. 3

5 %) SRR R s R A A e T 4
&) .
@) 79 diferdt 1 @ o Fed ST ‘ 8
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a) Give four examples of insurable propeny under Contractors’ All 4
Risk Policy. ;

b) Give an outline of this pohcy 8

S s s 3 et s e R

Mention the special questions in Erection All Risks proposal form. 12

L (I% & 4 3)
ﬁw%rmﬁﬂﬁaﬁ?ﬁq%whmzﬁzm@rﬁaﬁﬁwqam% '
HFR I 3T HIRAT ;-

F) Wi dEr

Q) s

M) - wEeRE T

¥) Tew @ Wl

Name type of plant and machmery commonly found in any three of the 4 each
following: ‘
a) Cold Storages.

b) * Textile Mills

5 ¢) Pharmaceutical Works

d) Hotels and Restaurants

Telrh e wifer 3 i -
%) el sTvasil 1 Seerg RN \
W) &Y B 1Y ST AT SR S e HR

Under Machinery insurance policy :
a). Mention the important exceptions
b) Explain the basis of indemnification

(mmm
. F) mm(a@%m)m%mmm#m

‘ Ffm )

@) Y@ a6 9§ S

) g uftr s faior 3R R swar 82
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a) Describe the cover under Deterioration of stocks (other than potatoes) 4 each
policy. :
b) Mention the principal exclusions
¢) - How is the sum insured fixed?

Tt 2 & R & Witre Rroafirat e -

%) Jefeaes gl

@) A A A SR dEa A TR H SR
) forelt RS @ e e

Write short notes on any two :-
a) Facultatlve reinsurance

Basis of Sum Insured under Advance Loss of Proﬁts Policy.
<) Feasibility study of the project.

F) m‘mm%@g-l%mﬁammmmml
|) aﬁlaﬁaﬁaaﬁ#ﬁaﬁrﬁﬁmﬁmmww%? '

a) - Outline scope of cover undcr Section-I of Electronic equnpment
Insurance.
b) Inthe event.of loss/damage what is the basis of Indemnity?

10, ST e T P e 3 ) ¢ RewRel g

10. List out recommendations for Fire Control on Construction Sites.
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ASSOCIATESHIP - EXAMINATION
MISCELLANEOUS INSURANCE
qwT 3w ] < : [ 38 - 100
Time: 3 Hours} [Total Marks : 100
e oTre uEl S e RN | W e 16 m%ﬁ;ﬁugaﬁmﬁqﬁ% 1
' s ashh el wv 12 i H ¥

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Mark

13 mwwﬁmmmmélm%@m s

- 3w P | '

) mﬁawagﬁmﬁaﬁukw%gsﬁ%ﬁaﬁmwmmﬁﬁm 4
ST 37

q) WWWWM“MQW IR WA g 4
=R 5% fore Bt ey swereet €2 37 W e A

1. a) - Personal Accident policies are deemed to be beneﬁt policies. Exan;me , 8
this statement along with- examples
b) On‘what basis are the risks classxfled forrating purpose in Personal 4
Accident insurance? :
c) Group Personal Accident Polxc;es need not be always on ‘24 hour 4
cover’ basis. What are the alternatwes avallable? Describe the same.
2. mmmm@ﬁmmmr : 12
2. Write a detailed note on Householders Insurance Policy. ' 12
3. nfewcm il 3 Rifter srvashi @ s Hiftrg : 12
3. List out the various exclusions specified in Mediclaim Po}‘iAcy.b S V)

4. el e o e R T AR e st Pefor d swdm e 12
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Briefly describe the contents of Burglary Insurance claim form and its use 12

in assessment of reported loss.

Foregt oty o Wit feoaoht fafa:- (T & 4 3F%)

F) UfesE e

W) Fape 1§ 3T TR & [T B

) - forer gmn o Wit A . ww. ). g

) - SR e qu ARFem 4 & simia Syee WeRlt A & W
S T RN

&) mwm%mﬂmﬁﬁm%mm
AT |

Write short notes on any three of the following :- 4 each

a) Facultative Reinsurance.

b) Good features discount in poultry Insurance.

¢} CFT endorsement in-the Videsh Yatra Mitra Policy.

d) - Distinguish between cumnulative Bonus available under Personal
Accident & Mediclaim Insurance. v =

€) Documents required in settlement of death claim under Personal

© Accident Policy.

) mm%m%mﬁwﬁr@aﬁaﬁmmw 9
FRm

a)  u v R i s 9 o R ot e 82w W AR 3

a) Elaboraté,-the factors which are taken into consideration while 9
underwriting Money Insurance Proposal. ‘

b) - Explain how premium is calculated in Money Insurance Policy. - 3

&) ol B - Y e R % aftnfaes frvaa sfgfa s
IUETs & a9 N g fersivaredi @ W S

%) feresemn wfeafs o s vy 9 o e ARG R 3

S H TR
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a) Name the various types of commercial fidelity guarantee covers 9
available with insurers and explain the salient features of each.
b) What is the meaning of discovery period in Fidelity Guarantee 3
insurance? Why is it made applicable? : '
dared <ok e e 35 fafer vt % siety srems oTl B TeRE 12
I ; o ‘
Describe the cover available under the various sections of the Bankers 12
Blanket Indemnity Insurance. ,
m,mmmm%ﬁaﬁmmaﬁtwaﬂmww 12
forget feroqoft forfa ' ‘ -
.Write a detailed note on the Horticulture crops and Plantations Insurancc 12
with reference to coverage, exclusions and sum insured. o
‘ (3% & 3 i)

9)

%)

g)

) @wmgwm(aﬁm>m%m‘m@m%

8 B <1 21T ST 53 & | < TR, 2,00,000 § 1 7 e T
&1 T A < i o i .

o it & sfwla 5fe w=T i w 20,00,000 T SHERR TS
T E. 3 B0s 1 et o a7y 1.4.07 9 31.03.08 31 T

¥. 25,00,000 5% A Y &, 15 e o I 5 qw o s

&t iy 7 et 787 . 3,30,00,000 F1 gem &1 e St

o foverdt @2

Tsh el vt 25% wom By s Tl Uiy %, FE F fag
SR < 7 @1 g st A AN A w 1,20,000 # & 9 gf §)
& T % g siftem v el g @ e w. 3 we )
= Tfy et gnito : ‘

o St R wiRrl 8 e R, 20,00,000, @R 1.4.07

31.3.08 F s F i &1 15.5.08 & ¥ gr =7 a5 A

07-08 H wfantt & Sarht B0 w. 1,50,000 1 o1 € 81 R
TR e 3 T E, 30,000 F g R A E 15,000
anf%raaénaéos-wm%ahvhwéwmaﬁmaﬁmsﬁ
ad 07-08 wiferdt 1 afredfarr efiaee &
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10. a) A Claim has occurred under a Personal Accident (Individual) policy 3 each
for Temporary tétal disablement of 8 weeks. The sum insured is
* Rs.2,00,000. Itis a 3" rénewal, Calculate the amount of claim payable.
b)  Under amoney policy the per carrying limit is Rs. 20,00,000 and the
estimated annual carrying is Rs. 3 crores. The policy period is 1.4.07
t0 31.3.08. A loss through robbery occurred of Rs. 15 lacs when the
employee of the insured was returnin g with the cash of Rs. 25,00,000,
It was however found that the total carrying till the date of loss was
already Rs. 3,30,00,000. What would be the liability of the insurance
company for the claim? ’
A25% first loss Burglary policy has been issued with a sum insured
of Rs. 1 crore. A loss occurs. thereunder of Rs. 1,20,000 due to a -
break-in and theft thereafter, It was however found that thie total value
of property at risk immediately prior to the loss was Rs. 3 crores.
What would be the amount of claim payable?
d) A Banker’s Indemnity policy was issued for a sum insured of Rs.
20,00,000 for the period 01.04.07 to 31.03.08. It was discovered by
‘the bank on 15.05.08, that a dishonest employee had caused a loss
totalling Rs. 1,50,000 due to his acts in the year 07-08. Each-dishonest.
act caused a loss of Rs. 30,000. The policy has an exeess of Rs. 15,000.
Calculate the amount of ¢laim payable under the 08-09 policy which
is the renewal of the 07-08 policy without any break.
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- mmsﬁﬁaﬁww

ASSOCIATESHIP EXAMINATION
LIABILITY AND ENGINEERING INSURANCE
g 3w ) o [ 3fe < 100
Time: 3 Hours) : .[Total Marks : 100

Mmm%m?ﬂﬁq 1 mm% 16 W%'ﬁﬁﬁ‘ﬂi’ aifrard = &)
Fmufiydwm T 12w HE
Answer EIGHT questions.onl y: Question ONE carries 16 rnarks but this is not
compulsory. All-other questions carry 12 marks each.

Marks
. ) Wwﬁam%wﬁmmmmmﬁm 8
Ui HfAd)
|) aﬁmﬁmmﬁaaﬁmmﬁﬁﬁmaﬂéé?
M) %ﬁ@m?ﬁaﬁmﬁmﬁaﬁm%mmaﬁaﬁ
St ax-Frafeor &) s = e w0 §
1. a) Describe the cover and merition the exc]usmns under Compulsory 8
‘Public Liability Policy.
b) = Who are exempted from Compulsory Public Llablhty Insurance? 4
¢) Outline factors which influence premium ratmg under Compulsory 4
) Public Liability risks. -
2. F) MWW&%W@@%WWWW 8
F oI FRAT |
@) fFefofea & = aeet # ‘
i) W@-EE AR -~ 2
i) wE-sTfie ‘ / ‘
2. a)  Describe the scope of cover under different sections of Electronic 8
Equipment Policy.
b) Whatis meant by : _
) Mamtenance Warranty : ) . . 2
ii)  Timeexcess? - I 2
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R . (T8 % 6 37%)
F) ©: 1 el F1 seorE FRTC S S A difRe & dad F
oty o T
@) mm&m@@mmmml

a). Mention six exclusions which are special to products liability policies. 6each
b)  Give reasons for the above exclusions

) e e R s T s A A AR T O
@) iRl 3 sl oMY ATet aTveRiA (e T AR S & )
N ITAE AT

a) Describe the cover under Workmen’s Compensaﬁon policy. 6 each
b) Mention the exclusions (other than war and nuclear risks) under the
policy. '

(70 ¥ 6 37F)

%) SR wdRe R ¥ il o § v: Y ey ol
- FeerE e, A= efrgRa foean s 21
w) dferd & siaria ST I ST
Mention :- — 6 each

" a)  Six impottant causes of losses indemnification under contractors’ All
Risk Policy.
b) Six supplementary covers under the policy.

B TN L)

F) E H g (e v e
®) el % fae iy gyl o

M) W IR

v) e g

Write short notes on.any two: - 6each
‘a) Deterioration of Stocks (Other than Potatoes) policy. '

b)  Professional Indemnity Insurance for Doctors. "

¢) Private Nuisance

d) Retroactive Date
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q)
“10. a)

b)

AG-79
mmﬁmm%mmmmﬁmmm 8
Y]

S e o e iR fv aref o wolerd o 2 erfy iRt @ Ry 4
Bt 82

What indemnity is provided under Machinery Loss of Profit Policy? 8

How is Advance Loss of Profits policy dlffemnt from Machinery 4

Loss of Profit policy? )

TefY e Rl % el Yo avaweT i FulT AR 8

T AEeyuf e qaET : 4

Describe the cover under Machiner y Insurance Policy. ) 8

Mention four i |mportant exclustons ' 4
(nﬁaaé; 6 aﬁ) ’

T E g, @mm%mmmﬁwﬁww
T G H HEAR § T F AT B S G aF v §7

What condmons are to be satisfied to establish Neghgence" © 6each

Enumerate commorrdefenses available to miti gate such action.

@/@naﬁ%&aﬁmﬁﬁﬁ%@wﬁm@wﬁmﬁﬁ 8
S A SR FeE T A Y e O SR sfe

BT =R, A% SR W A yafa R s §7
Wﬁwaﬁm%mmwa‘rﬁw@ﬁmw 4
FHw

What information you will look for under Product Liability proposal &
from a Pharmaceutical Company to indicate premium for €XpOrts to
UK/Europe?

Outline a‘ny_ two extensions available under such Policy. 4
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